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. Determine if the point (2, 8) lies on the graph of the equation.
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Determine the quadrant(s) in which (x. y) is located so that the condition(s) is (are) satisfied.
x<-8andy>0 /////‘ I
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Find the coordinates for the pging that is two units to the right of the y-axis and is five units up from

the x-axis.
(2,5)

Find the midpoint and distance between the two points (—5 14) and ('3 2)
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A soccer player passes the ball from a point that is 12 yards from the eﬁér ne ‘u‘? z yards trom the
sideline. The pass is received by a teammate who is 50 yards from the same endline and 39 yards
from the same sideline, as shown in the figure. How long is the pass?

Round to the nearest tenths
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a:(12,16)
»:(50,39)
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6.0riginal coordinates of vertjces (6,2) Shift: six units do ward, three units to the left
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7.Write the equation of a circle in standard form w1th center (0,-4) and radius 7

( X-h) +65—~L3 =r %

X-0)"+(y =N=T" 2y x4 (y+4) =4

8. Complete the graph of the of the equation with the given
y axis origin X Xis
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10. Write the equation of the line with's opé’"ﬂ"’\m Y nntc.n.q) -5

=& X =5

11 find the slope oM e g 16, (5.-2) -2 —8
M= 2dL ="
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12.Find the x- and J-intercepts of the equation below

9.lind the slope-intereept form of the equation of the line passing through the an Sketch the line.
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13.Use algebraic tests to check the followmg, for symmetry with respect to the axes and the ongm +
) 10x-10" =0 b)x-y'Hy’=0 €)y=x"+2x'-12 d) y=3x* ( \ O)

X-0S  XRXS 'AX\S o\rlglr\
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I5. Write the slope-intercept form of the equation of the line through the given p01 the
given line.

point: (-;2. 7) line: 6x — 818y 8 b x '
g'_&f@z. ~7=-3(x3)
“15 == X+5)
16.Complete the table. j :_,,—;r'- Jg -; - "5( vl 5
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17. Show that the points form the vertices of the indicated polygon.

Right triangle: (2,1), (4,0), (5,7) w |
F
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Isosceles triangle: (6,4),(3,9),(8,6)
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18. Find the center and radius of the circleTor the following: a) (x=7)% + (y+9) =16

Cenver ( '7,;43

1)
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b) x?+y% =36
(ﬁﬂ’L(f (0)0)
V=0

19. Write the equation of the circle with endpoints (0, 0) and (3,4)
(State the center and radius of the circle too) )

cervikr,(1.5,2) £of oM
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diameler=5 Lo\
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20. Multiply:

a. (4x-5) (6x-9) b. ( x-2) (x+ 3)

L4 1= 30% = 36X+HS ARE2x 43X+ b

qul—bbx +4S x‘** X = (

21. Factor: _*\1(36

a x2- 81 b. x2 - 3x - 28 ¢. 2x2- 5x -3 d, x3 - 5x3 - 2x{l()

Vo) Gxelk-3) X e=2ke9)
(x-4aYx#a) (%L X o)




